
Subject: Re: Changing prevalence and factors associated with Female Genital
Mutilation in Ethiopia using EDHS
Posted by Trevor-DHS on Sat, 06 Jun 2020 04:49:57 GMT
View Forum Message <> Reply to Message

You need to include in the denominator all of the cases for which the questions on FGC were
asked. In this survey g102 is missing if g100 is not Yes. Also, in this survey FGC was asked in a
subsample, but you can select that subsample based on variable g100.  Try the following:
if (not sysmis(g100)) fgc = 0.
if (g102 = 1) fgc = 1.
then weight the data as you have for other surveys, and you should match the estimate in the
report.
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